Cat No.: IDV16-X3-1

DV Series

Advanced Function General-purpose Inverter

Panel Through Mount Kit




3G3DV Panel Through Mount Kit Contents

Contents

1 Mounting Instructions

Preparation

Preparing the Panel Cut-Out and Fixing Holes

Assembly

O OV W W W

Assembly of Mounting Flange to Drive




1 Mounting Instructions 3G3DV Panel Through Mount Kit



3G3DV Panel Through Mount Kit 1 Mounting Instructions

1.1 Introduction

The Panel Through Mount Kit may be used where the heatsink can be cooled by an external air stream, or where there is a wish to use a separate air

duct. The electronics are sealed from the external air by use of the mounting flange and sealing gasket, whereby the electronics are housed within the
control panel, whilst the heatsink protrudes through the panel.

Back plate and fan must be mounted at all times, when drive is put in an air duct.

The gasket offers a dust and water tight seal to IP55.

The ambient temperature, on both the control panel side, as well as inside the duct must not exceed max. amb. temp. for the drive.

1.2 Preparation

1.2.1 Preparing the Panel Cut-Out and Fixing Holes

First stage of installation is to make the cut-out and fixing holes in the required position of the panel in accordance with the following:



1 Mounting Instructions

3G3DV Panel Through Mount Kit

Illustration 1.1: A5 Enclosure

Cut—out for Panel Through—Mounting:

444.5%¢2

g
g
14Q 14Q 4
)
g
_ g
ol .
o /—Remove material
lo)
«
g == “~ 9
10x ¢9.2
For steel blind
A | rivet nuts M6x30
(flat head)
q
ol
N \
+ :
246 4
263% g
g
g

130BA762.10




3G3DV Panel Through Mount Kit 1 Mounting Instructions

Cut—out for Panel Through—Mounting:

140 140

‘ /—Remnve material

-
fe |
o, oq o
i 9 | | 9 10x ¢9.2
5 - T T for steel blind rivet nuts
3 M6x30
(flat_head)

242
261%¢

min. 150 mm,

130BA690.10

Illustration 1.2: B1 Enclosure




1 Mounting Instructions

3G3DV Panel Through Mount Kit

Cut—out for Panel Through—Mounting:

67012

g
g
g
140 140 e
g
g
o \
SNt /—Remuve material
//
0
g
| e
R 4 10x 9.2
for steel blind rivet nuts
M6x30
(flat_head)
g
I
g
g
242 g
]
261%¢ ]
9
g

Illustration 1.3: B2 Enclosure

130BA693.10




1 Mounting Instructions

3G3DV Panel Through Mount Kit

Cut—out for Panel Through—Mounting:

Gt

uT

10x 9.2
for steel blind rivet nuts

M6x30
(flat_head)

emove material

W 5T U

170

RN

////////////J/////////
N\

AOUONRRNNNNNNNANNNNANNANANYN

DONONNINNANNNNANNNNN

170

NS

N QNN

R T T e

AN

ALY

N
N
NN
NN
NN
N\

AR RN

)

5
325.75%%

= D

oct

02

02

82

7669

130BA696.10

Tllustration 1.4: C1 Enclosure




3G3DV Panel Through Mount Kit

10x $9.2
for steel blind rivet nuts
M6x30
(flat head)

Remove material

130BA699.10

Cut—out for Panel Through—Mounting:

1 Mounting Instructions

W ST 0T WG] 0w

B /Amv B SOLL B . B R

N \ |

AR /////// N
N\ AR AR R RN N\

A

AN RNNNNNNANANN /////////ﬂ
AONNANNANN /////////ﬂ////////

—

H///////// NNNNNNNNN

\

- —

N

Q0

3735
386 75+ 2

00

N
AOONNNNNTRINNNNNNNANN ///////////////
AT NN

STl

SIT S S

Care should be taken to ensure the cut-out dimensions are accurately followed and that sharp edges are removed.

Illustration 1.5: C2 Enclosure




3G3DV Panel Through Mount Kit 1 Mounting Instructions

1.3 Assembly

1.3.1 Assembly of Mounting Flange to Drive

Illustration 1.6: Fitting of sealing

The flange should now be assembled to the drive using the supplied screws and captive washers. The screws should be tightened to a torque of 2.2 —

2.5 NM, using a Torx-20 tool.

NB!
If the drive is to be mounted through the front of the panel, the flange must be assembled so that the raised edge of the flange is
uppermost (towards the electronics). If the drive is to be mounted from the rear of the panel, then the flange should be fitted with the

raised edge facing away from the electronics.




1 Mounting Instructions 3G3DV Panel Through Mount Kit

Drive main dimensions:

332 mm —120 mm —-80 mm-—

510 mm

o o o
&
130BA763.11
Illustration 1.7: A5 Enclosure
Drive main dimensions Drive main dimensions
332 mm 151 mm —
332 mm — 151 mm ——108 mm—

=

[ 111 50T

570 mm

740 mm

| &

=
130BA691.12

Illustration 1.8: B1 Enclosure

&
130BA694.12

Tllustration 1.9: B2 Enclosure

10



3G3DV Panel Through Mount Kit 1 Mounting Instructions

Drive main dimensions Drive main dimensions
386 mm 448 mm ~— 161 mm—-—— 173 mm—-
— 160 mm———— 147 mm —
i e
o ° ° 5 5 S
© e- e ;i 9) DC: DC# ©
g " g 3
o 5
o ] g A
3 By
fud
[ L .
o L
5 © e o o 9 © .
% . ] LY e
o
(bl . £ = = RN
Ll
o) ©
ollef||e O||(9]|[©]
° [®llo||/o] lo|[] Io|llo|llo °
o o CHENENE
o o e]l|ell|e
g i i) i)
(b (oo (oo an__@do
@ L ° oo ( © o0 ooo now
ol © J ool © ) won see
A WD (-]
o o o
. o o 1308AT00.11
1o0mRger 10 Tllustration 1.11: C2 Enclosure

Tllustration 1.10: C1 Enclosure

Once the flange has been assembled to the drive, the unit can be presented to the cut-out in the panel. The heatsink can be carefully positioned through
the cut-out, taking care not to damage the gasket and the unit can be secured using suitable nuts and bolts through the fixing holes.

Be aware that the plastic cover must be mounted for the kit to comply with CE and UL requirements.

Assembly of mounting flange to drive with cover. The cover will provide IP21 on the electronics side:

4x

M4x12mm
(2.2-2.5Nm
Torque value)

4x M4x20mm
(2.2-2.5Nm
Torque value)

|

2x M4x16
(2.2-2.5Nm
Torque value)

Blind plug 130BB253.11

130BA764.11

Table 1.1: A5 Enclosure

11



1 Mounting Instructions

3G3DV Panel Through Mount Kit

Attention:

Make sure that the
spacers

are oriented as
shown.

lllustration shows
left spacer.

6.5x5x4mm

3.5x6mm
TONm N 1.0Nm

3.5x6
Torque value Torque value
3.5x6 mm
1.0 Nm

Torque value

3.5x6
1.0 Nm
Torque value

M5x18mm

(2.2-2.5Nm

Torque value) Ax M5x25mm
with nylon
washer
(2.2-2.5Nm

Torque value)

Attention:

Make sure that the
spacers

are oriented as
shown.

lllustration shows right
hook and spacer.

B enclosure

130BB254.11

12



* M | 3 4 H 1 a2 *



